
 To create a formula template for penetration pricing, several key factors need to be considered:

1. Cost of Production (C): The total cost of producing the product, including raw 
materials, labor, and overhead costs.

2. Desired Market Share (M): The percentage of the market the company aims to capture 
with its pricing strategy.

3. Price Elasticity of Demand (E): A measure of how sensitive the demand for the product 
is to changes in price.

4. Competitive Prices (P_c): Prices set by competitors for similar products.
5. Initial Pricing Discount (D): The percentage discount applied to the product to make it 

initially attractive to consumers.
6. Target Profit Margin (π): The desired profit margin, though typically lower initially in 

penetration pricing.

Here is a basic formula template for setting the penetration price:

Pp=C×(1+π)−DP_p = C \times (1 + \pi) - DPp =C×(1+π)−D

Where:

● PpP_pPp  is the penetration price.
● CCC is the cost of production.
● π\piπ is the target profit margin.
● DDD is the initial pricing discount.

Steps to Implement Penetration Pricing Strategy

1. Calculate Cost of Production: C=Total Fixed Costs+Total Variable CostsC = \text{Total 
Fixed Costs} + \text{Total Variable Costs}C=Total Fixed Costs+Total Variable Costs

2. Determine Initial Pricing Discount (D):
○ Research competitive prices (PcP_cPc ).
○ Decide on a discount rate that makes your product significantly cheaper than the 

competition to attract customers quickly.
3. Set the Target Profit Margin (π):

○ Usually lower than the standard profit margin to ensure the price is attractive 
enough to gain market share.



4. Calculate the Penetration Price (P_p): Pp=C×(1+π)−DP_p = C \times (1 + \pi) - 
DPp =C×(1+π)−D

Example Calculation

Let's assume the following values for a product:

● Cost of Production (C): $50
● Desired Market Share: 20%
● Competitive Prices (P_c): $100
● Initial Pricing Discount (D): 20% of competitive prices
● Target Profit Margin (π): 10%

Step-by-Step Calculation:

1. Calculate Discount: D=Pc×0.20D = P_c \times 0.20D=Pc ×0.20 D=100×0.20=20D = 
100 \times 0.20 = 20D=100×0.20=20

2. Calculate Penetration Price: Pp=C×(1+π)−DP_p = C \times (1 + \pi) - DPp =C×(1+π)−D 
Pp=50×(1+0.10)−20P_p = 50 \times (1 + 0.10) - 20Pp =50×(1+0.10)−20 
Pp=50×1.10−20P_p = 50 \times 1.10 - 20Pp =50×1.10−20 Pp=55−20P_p = 55 - 
20Pp =55−20 Pp=35P_p = 35Pp =35

So, the penetration price PpP_pPp  would be $35.

Additional Considerations

● Market Analysis: Continuously analyze the market to adjust the penetration pricing.
● Customer Feedback: Monitor customer feedback and sales data to ensure an effective 

pricing strategy.
● Duration of Penetration Pricing: Decide how long to maintain the penetration price 

before potentially increasing prices more sustainably.

This template and calculation method provides a starting point for setting a penetration price, 
but adjustments may be needed based on specific market conditions and strategic goals.


